Multiplying by 10 & 100

Solve the equations.

1. 66 x 70 = 1. 27 x 800 =
2.79 x 30 = 2.8b5 x 600 =

3.48 x 90 = 3.63 x 700 =

4.25 x 60 = 4.59 x 400 =

5.82 x40 = 5.82x700=___
6. 78 x b0 = 6.900x47=__
/.35 x50 = 7.300x 66 = _____
8.66 x 40 - 8.500x82=___
9.37 x 60 = 9.200x 27 =_____

10. 94 x 20 = 10.800x49=__
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Multiplying by 10 & 100

Solve the equations.

1.66 x 70 = 4620
2.79 x30=2370
3.48 x 90 = 4320
4. 25 x 60 = 1500
5.82 x40 = 3280
6. 78 x 50 = 3900
7.35 x50 =1750
8.66 x 40 = 2640
9.37 x 60 =2220

10. 94 x 20 = 1880

Worksheet 2

2. 85 x 600 = 51,000
3.63 x 700 = 44,100
4.59 x 400 = 23,600

5.82 x 700 = 57,400

6.900 x 47 = 42,300

/. 300 x 66 = 19,800
8. 9500 x 82 = 41,000
9.200 x 27 = 5,400

10. 800 x 49 = 39,20C




